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Al & HI XY 5,000
OINE=2=DIVIEENNE:] 5,000
202 O4d| 15,000 15,000 0
01 2| 15,000 15,000 0
ORI ME =TI 15,000
203 SR =8| 3,000 3,000 0
03 AEFXRHR=AH| 3,000 3,000 0
(0 EAMNELRF=A 3,000
303 LAZ 400 400 0
01 Za3 400 400 0
O+MTEANMRTR2ANA 400
SASSAYHAUYBAZS2 46,000 51,000 A5,000
= 46,000
403 MXISHHSA20H 46,000 51,000 25,000
= 46,000
01 XXIESH =22 xR 46,000 51,000 A5,000
OS2 YH g ESZ 46,000
= 46,000
[WR==RSEC] RIS 53,750 130,000 NT76,250
Z 50,000
& 3,750
403 XXIEHSK=201H 53,750 130,000 AT76,250
2 50,000
& 3,750
01 AXIEHMA2EXR 53,750 130,000 NT76,250
OC=s&oIAI| & 53,750
2 50,000
== 3,750
=MAEHS D WK R AL 146,000 249,000 A 103,000
= 146,000
308 AtXIEHHMI SOl 146,000 249,000 A 103,000
= 146,000
06 FI|ZHUst2XE2 146,000 249,000 A 103,000
OFMHESSI DD KA 146,000
= 146,000
DesHERSEZEUIXJ 326,300 0 326,300
= 251,000
& 75,300
403 XNXISHMS K20/ A 326,300 0 326,300
= 251,000
= 75,300
01 AXISHA=2E xR 326,300 0 326,300
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ONssEdKRFEZEHINE 326,300
= 251,000
= 75,300
QLB LI HE 2 SHIX & 31,500 0 31,500
403 TIXISHHIS K0l 31,500 0 31,500
01 AXEMA=E = 31,500 0 31,500
OQEOI R 21T 225 X & 31,500
O & QI eI K& 254,250 300,000 245,750
oA B HOIAE S| 2 AR 20,000 25,000 25,000
307 PI2HOIA 20,000 25,000 A5,000
02 2ItBAE X 20,000 25,000 25,000
A Z 01018 5| 2 A | X & 20,000
HE2HS 15,000 15,000 0
308 MXIHHMSOIA 15,000 15,000 0
01 HXSHBAEXZ 15,000 15,000 0
DoE=28s 15,000
oA B IO XA 30,000 50,000 20,000
307 GI12+0I & 30,000 0 30,000
04 DIZFSAIE T 30,000 0 30,000
C44H2 H QI TH3I X 2 30,000
== 01512 0 = = 15,000 35,000 20,000
307 GIzZtolA 115,000 135,000 A20,000
02 BI2tAAE X 115,000 135,000 220,000
ol B =0 B HI X & 100,000
[J8H2 24 & 0 = 2 (TAC) BI 2+ 8 2 5 15,000
Hgelsldls H=23 53,500 58,000 24,500
308 XXl &I S0l 53,500 58,000 24,500
01 XML EXS 53,500 58,000 A 4,500
mENE N 43,000
Of=0geloielHs 10,500
M IEHX X2 =& 20,750 17,000 3,750
201 et 2,000 2,000 0
01 AtS 22/l 2,000 2,000 0
(IE==g:] 2,000
OIS DET=EES =N 2,000
202 O4H| 18,750 15,000 3,750
01 =Wl 18,750 15,000 3,750
(01 2101 EHRIXI & 5 7 01 18,750
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OEOERBOITRRE 17,329,675 15, 136,077 2,193,508
= 36,000
3 7,389,000
= 9,904,675
XI 2018 Al & (X 2,840,000 3,500,000 660,000
403 XX SIS K20l 2,840,000 3,500,000 660,000
01 MXSHAZDE 2,840,000 3,500,000 660,000
mpNETV NP 2,600,000
OX SO E AL SOUFAIL USRI 22N 240,000
NEHEAE (WL ) 983,000 0 983,000
401 Al&HIL 20| 983,000 0 983,000
01 Al&H] 983,000 0 983,000
DXL E AL P2 A 983,000
RIS O 8 AL AL S H 2 AHS 212 & 8B D} 250,000 250,000 0
401 AlAHIL 20| 250,000 250,000 0
01 Al&H] 250,000 250,000 0
mpNERVERSUNPED EINES T 52 =5] 250,000
ARBOE Al 3,300,000 3,390,000 290,000
403 XX SIS K20/ 3,300,000 3,390,000 290,000
01 MXSHAZDE 3,300,000 3,390,000 90,000
(ARDOBAIL 3,300,000
OB EALE A 744,000 368,000 376,000
403 RHXISHH SX20|H 744,000 368,000 376,000
01 MXSHMAZEDE 744,000 368,000 376,000
O BS X AIL 144,000
mEFE = INPE 600,000
HENE BT REE 16,000 16,000 0
201 LByl 1,000 1,000 0
01 At 2relb| 1,000 1,000 0
mEEH 1,000
OO EOB RO T AEA DA TA 1,000
202 01t 15,000 15,000 0
IETEE 15,000 15,000 0
O E0I 2O T 2P EEX 01| 15,000
HEHEOISASEHEX & 44,640 22,320 22,320
= 36,000
= 8,640
308 XHXI IS O & 44,640 22,320 22,320
= 36,000
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< 8,640

01 HXSHHBAEES 44,640 22,320 22,320
D0HEMEISALSEHEX 44,640
= 36,000
= 8,640

X201 82 & 5,175,000 3,250,000 1,925,000
= 3,900,000
= 1,275,000

401 AlSHIL SO 5,175,000 3,250,000 1,925,000
= 3,900,000
< 1,275,000

01 Al&l 5,145,000 3,225,000 1,920,000
DX g A 5,145,000
z 3,876,000
= 1,269,000

03 Al&=0l 30,000 25,000 5,000
CIXI 2018 A4 & 2 Th b 30,000
= 24,000
< 6,000

OEZBIHY 3,198,535 3,542,857 344,322
= 2,889,000
= 309,535

403 XIS S X201 & 3,198,535 3,542,857 344,322
= 2,889,000
= 309,535

01 HXISHR=LEE 3,198,535 3,542,857 344,322
O =S 3,198,535
= 2,889,000
= 309,535

HEOIE BN 715,000 796,900 A81,900
z 550,000
< 165,000

403 XX SHHISKH=01 A 715,000 796,900 ~81,900
2 550,000
= 165,000

01 HXSH=LEE 715,000 796,900 ~81,900
I Z=0f 8 22 H e 715,000
= 550,000
= 165,000

HENEISEHS 63,500 0 63,500
= 50,000
= 13,500

403 XX SHHS K201 H 63,500 0 63,500
z 50,000
= 13,500

01 MXIESHAEEE 63,500 0 63,500
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C9: OfEOIR RO TS CERE
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
OHEMEll=d 63,500
= 50,000
= 13,500
BZES LI L= ASE 13,576,560 8,347,512 5,229,048
= 3,741,000
& 5,399,000
J| 1,517,000
& 2,919,560
MEX ML= 84,000 80,000 4,000
403 [tXI M SK=01™ 84,000 80,000 4,000
01 XXIEMAZ2E=x 84,000 80,000 4,000
IPSE==DNRT 1] R R 84,000
CHAHEEEIXIA 100,000 100,000 0
403 XX SHHSKA=201H 100,000 100,000 0
01 XXIEMA2E X 100,000 100,000 0
OUHAHAHEEEI XA 100,000
IBHETZZAELH 60,000 30,000 30,000
207 AN LI 60,000 30,000 30,000
01 A= 4HH| 60,000 30,000 30,000
SHEFZIANES 60,000
SEEXSAMNLY 100,000 0 100,000
207 A =1IH 2| 100,000 0 100,000
01 ARE9H| 100,000 0 100,000
OSSEXNLAMEYHIAIES 100,000
Aot & 2te| 360,000 600,000 A 240,000
403 [tXIEMSK=201H 360,000 600,000 A 240,000
01 XXIEMAE2E=x 360,000 600,000 A 240,000
OHICh= X2 8 ALY 300,000
& LR ALS 60,000
HAEEZEYL 22| A S 285,000 221,000 64,000
403 XX SHHSKA=201H 285,000 221,000 64,000
01 MXISMA2EX 285,000 221,000 64,000
OZHAXINLE=H 90,000
OUH=HEMNSIHALS 75,000
OWs=HHSAIELIHE S 60,000
OOtS 0 & 2882 S 0| 60,000
BZXS LI =SESAEFE 19,000 19,000 0
201 et 2,000 2,000 0
01 AtSR2t2ldl 2,000 2,000 0
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
SEEEY, 1,000
LN ES P 1,000
BEET] 1,000
OB RIS H A S Z A 1,000
202 o1l 15,000 15,000 0
01 2UjoIHl 15,000 15,000 0
BEE R EEr N RS ] 15,000
203 YR =AY 2,000 2,000 0
03 AlMZ=ZI2ETY| 2,000 2,000 0
O ARS NSRS R T 2,000
LH40101 B A RI R & K| 107,500 103,200 4,300
= 100,000
& 7,500
403 REXISHSKHZO0|H 107,500 103,200 4,300
=2 100,000
& 7,500
01 XXICHI2EE 107,500 103,200 4,300
(48101 B AR R & X 107,500
= 100,000
= 7,500
OIZOIEAIE (R KR A AIKIEA) 4,000,000 2,957,500 1,042,500
3 3,200,000
= 800,000
401 AEHILR ] 4,000,000 2,957,500 1,042,500
3 3,200,000
= 800,000
01 Al&Hl 3,950,000 2,907,500 1,042,500
mfE=XEINPE 3,950,000
=l 3, 160,000
= 790,000
03 Al&=CHHl 50,000 50,000 0
B[ E NPT 50,000
3 40,000
= 10,000
HESAY(ARRNAXES) 241,860 250,000 £8,140
=l 225,000
= 16,860
403 RXSHSXHZ0IH 241,860 250,000 ~8,140
=l 225,000
= 16,860
01 MXSAX =SS 241,860 250,000 ~8,140
BEEEESE! 241,860
3 225,000
= 16,860
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o SIEN
SN - (BIH) - MISAY - BE =S O] Ak 4 il i~ o B2
HEO BRI (AT RMATES) 375,000 250,000 25,000
3 300,000
& 75,000
403 X SHMSAH=01H 375,000 250,000 125,000
= 300,000
& 75,000
02 S| 2SOCHSCH A I 375,000 250,000 125,000
=01 & 2tel 375,000
& 300,000
= 75,000
SN B H A (HLTIAN AT ES) 261,000 302,000 A41,000
3 261,000
308 MXIHHMSOIA 261,000 302,000 241,000
& 261,000
01 AXNHMBLEXS 261,000 302,000 241,000
OXAHEE 3 261,000
= 261,000
SMBLHLLR(HSUNAMARZY) 818,214 815,960 2,254
= 725,000
& 93,214
403 KX M SK=01H 818,214 815,960 2,254
= 725,000
= 93,214
01 MXESHMA=E =R 818,214 815,960 2,254
O=MES[ 0L 818,214
= 725,000
& 93,214
HE AKX E222ISSHAA 1,872,400 1,035,400 837,000
= 1,510,000
= 362,400
403 XX HMSAH=01H 1,872,400 1,035,400 837,000
= 1,510,000
= 362,400
01 UXSHN2EE 1,872,400 1,035,400 837,000
O s2el E2sHAE 1,872,400
= 1,510,000
& 362,400
MEFH A0l A ALY 1,777,500 879,166 898,334
= 1,575,000
& 202,500
403 X HMSAH=01H 1,777,500 879,166 898,334
= 1,575,000
& 202,500
01 MXESHMA=2E R 1,777,500 879, 166 898,334
ML P2AIEAS 1,777,500
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= 1,575,000
& 202,500

AMSQEU2SUWEAHHYXE A 54,286 54,286 0
3 38,000
& 16,286

403 XFXISHIS A | 54,286 54,286 0
& 38,000
c 16,286

02 Z2J|1&sl SHAFS HI 54,286 54,286 0
(= dERUS S T AL 54,286
2 38,000
= 16,286

N 585,000 650,000 65,000
Z 450,000
& 135,000

403 XHXISHHS & 585,000 650,000 A 65,000
& 450,000
& 135,000

01 XFXIEHHIXF 585,000 650,000 A 65,000
=& YAl A 585,000
Z 450,000
== 135,000

ADHE R IS4 1,117,000 0 1,117,000
J| 1,117,000

308 XXIHAS 1,117,000 0 1,117,000
J| 1,117,000

01 XXIEM B = 1,117,000 0 1,117,000
A 2ol & =2+H 1,117,000
J| 1,117,000

=N\ 72,800 0 72,800
= 56,000
o= 16,800

403 XHXISHS & 72,800 0 72,800
= 56,000
== 16,800

01 XFXI S Xt 72,800 0 72,800
Onees X3 A 72,800
= 56,000
& 16,800

AE EHEME AL 400,000 0 400,000
J| 400,000

308 XMXIEHHSOIN 400,000 0 400,000
J| 400,000

01 XEXIGHHMAE = 400,000 0 400,000
OSAEHEE NS ALS 400,000
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_ _ SIEN
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[ 5] 400,000
2 Z2H0=sE 650,000 0 650,000
= 500,000
= 150,000
403 XX SHMSA201H 650,000 0 650,000
= 500,000
& 150,000
01 RXESHMA2E = 650,000 0 650,000
OARRHIOSE 650,000
2 500,000
= 150,000
I[E=g=1 [l Rl Fa R PN S 236,000 0 236,000
= 200,000
= 36,000
403 XXM SA201H 236,000 0 236,000
= 200,000
= 36,000
01 AXESMIA2E = 236,000 0 236,000
(0SS E 0| QA ST E A 236,000
2 200,000
= 36,000
test=MEEE 9,530,600 6,959,575 2,571,025
= 220,000
z 6,788,000
= 2,522,600
A e S EOLEHIXIA 40,000 45,000 25,000
307 QI2t0I A 40,000 45,000 5,000
02 BlItAAE L 40,000 45,000 25,000
IR e = ) 2 | DA R 40,000
NEET RPN 9,000 100,000 A4,000
403 TIXISHHIS K20 9,000 100,000 A4,000
01 RXESHMA2E = 96,000 100,000 24,000
OXNS Est= S AHEA 96,000
FUERSHA 168,000 200,000 A 32,000
403 XXM SA=201H 168,000 200,000 A 32,000
01 AXESMIA2E = 168,000 200,000 A 32,000
O4ASSHENLLRHSIIX 84,000
&SRR HEA LK 84,000
SHSLUHAHNE S ALY 200,000 0 200,000
207 ANl 200,000 0 200,000
01 HESHI 200,000 0 200,000
OSHSAHUANSESARI 2N B 200,000
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dalsttEE2]UIXE 30,000 0 30,000
403 XXM SA=01H 30,000 0 30,000
01 MUHXIEMA=ZEx 30,000 0 30,000
Uadrdt2=E2=F0IXE 30,000
S MEINSAIERHR A 22l (HACCP) & Ul X 60,000 0 60,000
403 MAIEHSAH=01H 60,000 0 60,000
01 MUXIEHMAZE = 60,000 0 60,000
Ox=42ItSAld 2ol 222l (HACCP) & HI X & 60,000
dest=ME3 a5 17,375 16,000 1,375
201 Et=EH| 2,375 1,000 1,375
01 AtR2teld] 2,375 1,000 1,375
U= 2,375
OUKEI L ASBZEEZA 2,375
202 O 15,000 15,000 0
01 2| 15,000 15,000 0
Oaldet=ME=sa5F 80 15,000
SO 2AXIILSAIE 2,145,000 975,000 1,170,000
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= 2,329,000
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= 220,000
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403 A XIEHHSXH=01H 269,500 0 269,500
= 220,000
= 49,500
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= 75,000
403 THXIGHHS K20 H 325,000 0 325,000
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= 75,000
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= 60,000
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= 60,000
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ol 2oty 13,965 5,985 7,980
ozt 2oty 13,965 5,985 7,980
101 Q1244] 13,965 5,985 7,980
01 24 13,965 5,985 7,980
O4g 13,965
OAl2tRR4g 13,965
I CEREEED
8,31220+7 2 x20A| 2+ 12 13,965
o223l 34,000 34,000 0
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